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QUESTION 1

Which of the following statements is true? Select the correct answer. 

A. Each REST service exposes its own unique technical service contract. 

B. REST services are event-driven programs that do not have service contracts. 

C. REST services only expose a technical service contract when using SOAP messaging. 

D. REST services share a common uniform contract. 

Correct Answer: D 

 

QUESTION 2

A SOAP-based Web service is required to transmit an XML-based invoice document to a REST service. However, the
SOAP-based Web service is designed to represent invoice data using an XML schema that is different from the XML
schema used within the REST service. How can the disparity between the XML schemas, used by these two services,
be overcome so that they can exchange the invoice document? Select the correct answer. 

A. A layer of data format transformation logic needs to be introduced based on mashup technologies, such as DTD and
WS-Transform. 

B. A layer of protocol transformation logic needs to be introduced based on Web technologies, such as HTTP and FTP. 

C. A layer of data model transformation logic needs to be introduced, based on XML technologies, such as XSLT. 

D. There is no technique or technology for overcoming differences between XML schemas. 

Correct Answer: C 

 

QUESTION 3

Which of the following statements is true? Select the correct answer. 

A. An initial sender is at the beginning of the message path, whereas the service consumer is at the end of the message
path. 

B. An intermediary service transitions through the initial sender role when it invokes another service provider. 

C. An initial sender is the service consumer at the beginning of the message path, whereas the ultimate receiver is the
service provider at the end of the message path. 

D. An initial sender is not related to the message path but is instead a part of hybrid service component composition
sequences. 

Correct Answer: C 
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QUESTION 4

Like components, SOAP-based Web services can be developed using vendor tools. Unlike components, the
communications framework established by SOAP-based Web services can be based on industry standards thereby
remaining vendor-neutral. Select the correct answer. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 5

Which of the following statements is false? Select the correct answer. 

A. Multiple XML documents can link to the same XML schema. 

B. One XML document can link to multiple XML schemas. 

C. XML schemas cannot be embedded within XML documents. 

D. XML schemas can exist as separate files. 

Correct Answer: C 

 

QUESTION 6

A namespace can be considered a form of: Select the correct answer. 

A. unique identifier 

B. redundant identifier 

C. duplicate identifier 

D. Namespaces are not identifiers; they are always pre-defined values that we are required to work with. 

Correct Answer: A 

 

QUESTION 7

I would like to add two different WS-Policy definitions to my SOAP-based Web service and I would like to give the
service consumer the choice to comply to either policy. How can I do this? Select the correct answer. 

A. Create a separate XML schema for each policy and attach both XML schemas to the service\\'s WSDL definition. 

B. Create the two separate policies and group them in a policy alternative that is then associated with the service\\'s
WSDL definition. 

C. Communicate each policy through a separate WS-Addressing SOAP header and let the service consumer choose
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which header to use. 

D. You cannot do this. 

Correct Answer: B 

 

QUESTION 8

Which of the following statements is true? Select the correct answer. 

A. WS-Coordination establishes a base coordination framework for which WS-Addressing and WS-Routing provide
additional protocols and rules. 

B. WS-Coordination establishes a base coordination framework for which XML Schema and WS-Addressing provide
additional protocols and rules. 

C. WS-Coordination establishes a base coordination framework for which WS-AtomicTransaction and WS-
BusinessActivity provide additional protocols and rules. 

D. WS-Coordination does not establish a base coordination framework. The name of the specification is deceiving as it
actually defines a series of generic routing protocols. 

Correct Answer: C 

 

QUESTION 9

A SOAP-based Web service is essentially: Select the correct answer. 

A. solution logic that can only be accessed via HTTP methods 

B. solution logic accessible via binary RPC protocols 

C. solution logic that has been shaped by service-orientation design principles 

D. solution logic that can be accessed via a published WSDL definition 

Correct Answer: D 

 

QUESTION 10

Which of the following statements are true? SELECT ALL THAT APPLY 

A. A service can exist as a component. 

B. A service can exist as a SOAP-based Web service. 

C. A service can encapsulate one or more components. 

D. A service can encapsulate one or more SOAP-based Web services. 

Correct Answer: ABC 
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QUESTION 11

Which of the following statements makes sense? Select the correct answer. 

A. I designed a unique XML schema for each of my REST services so that the HTTP methods used by these services
are consistently named. 

B. My REST services are limited to the use of the GET HTTP method because only one XML schema was designed for
all of them. In order to support additional HTTP methods, additional XML schemas will need to be designed due to the
inherent dependency HTTP has on the XML Schema Definition Language. 

C. I designed my REST services to share the same XML schema. 

D. XML schemas cannot be used by REST services. 

Correct Answer: C 

 

QUESTION 12

Which of the following can be part of technical service contract? Select the correct answer. 

A. WSDL operation 

B. component method 

C. HTTP method 

D. Each of the above can be part of a technical service contract, depending on which technology platform is chosen to
build the service. 

Correct Answer: D 

 

QUESTION 13

XSLT is a technology that is primarily used to address _____________________ . Select the correct answer. 

A. technology protocol bridging requirements (such as when .NET and Java components need to speak to each other) 

B. data model transformation requirements (such as when similar data based on different XML schemas needs to be
exchanged) 

C. layer transformation requirements (such as when data located in different architectural layers needs to be exchanged
between architectural layers) 

D. service transformation requirements (such as when two versions of the same service exist) 

Correct Answer: B 

 

QUESTION 14
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Which of the following statements is false? Select the correct answer. 

A. The WS-I is an industry standards organization that provides basic profiles to help foster interoperability among
solutions based on XML and Web services industry standards. 

B. OASIS is an industry standards organization that has developed a number of important technology specifications,
including WS-BPEL and UDDI. 

C. The W3C is a standards organization that has developed a number of important technology specifications, including
SOAP, WSDL, and WS-Addressing. 

D. The OAS-C is an industry standards organization that has developed a number of important technology
specifications, including WS-Security and XML Schema. 

Correct Answer: D 

 

QUESTION 15

When designing REST services within a given domain, you establish __________________ that are represented by
unique identifiers, usually in the format of __________________. Select the correct answer. 

A. resources, HTTPs/HTTPSs 

B. mashups, HTTPs/HTTPSs 

C. resources, URLs/URIs 

D. mashups, URLs/URIs 

Correct Answer: C 

S90.02 PDF Dumps S90.02 VCE Dumps S90.02 Exam Questions

Powered by TCPDF (www.tcpdf.org)

S90.02 PDF Dumps | S90.02 VCE Dumps | S90.02 Exam Questions                                6 / 6

https://www.pass4itsure.com/s90-02.html
https://www.pass4itsure.com/s90-02.html
https://www.pass4itsure.com/s90-02.html
http://www.tcpdf.org
https://www.pass4itsure.com/s90-02.html
https://www.pass4itsure.com/s90-02.html
https://www.pass4itsure.com/s90-02.html

